Algebra 2 Fall Semester Final Exam Study Guide - Chapter 0 (Part 1)
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**| apologize for the fact that the all of these are out of numerical order!**

Solving Equations

Solve the following eguations. Make sure you show work!
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What is domain?
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Determine if the following are functions.

17){(10, 4) (3, 14) (-2, -2) (10, 8)}
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Given the functions f(x) = 10x* - 10x + 5, g(x) = 4x* - 5, and h(x) = 12x+ 10. i z.g{} % ‘é’,ﬁ J
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identify A, B, and C. r
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Write the followmg Imear equations in standard form, and
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Find the slope of the line that passes through each pair of points. § i
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4)(0, 2), (8, 8) 5) (2, 4) and (-7, 8} 8) (-7, 9), (-6, -5)
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Given the following mformaﬁon write an eauat:on in slooe mfercent form. . “
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10) Slope = -%4, passes through the point (-1, 3) 11} Slope = -2, passes through the point (3 5)
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13) Slope = 3, passes through the point (-1, 2)
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-, passes through the point (0, 7)
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Given the following information. write an equation in slope intercept form.

14) Passes through (-1, -2}y and (3, -7)
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16) Passes through (15, 16), (5 0}
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18) The table shows the re]atlonsh[p between time (in minutes)
to depth (in centimeters) of a plastic bottle (filled partially with
water) sinking in a lake.

Slope:

a) Describe the correlation. ;/”{ﬁ; ;*; Ve

b) Using the poinis (4, 8) and (20, 41), write a prediction
equation to represent this data. e o
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¢) Determine the depth if the bottle has been smkmg for 40

15) Passes through (0, 3) and (-2, 3}
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